Lesson 2.3 — Standard Form

Explore and Reason
ae makes a playlist of 24 songs for a party. Since he prefers
ountry and rock music, he builds the playlist from those two E
types of songs. = sl N\

A. Determine two different combinations of country and rock§

songs that Jae could use for his playlist. S
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B. Plot those combinafions on the graph. Extend a line
through the points.
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C. Can you use the line to find other meaningful points? Explain.
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Hanna will seend §150 on music festival tickets.{ ReservedEeat tickets cost $2§and general admission tickets cost $10.

How can you represent the situation with a linear equation?
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| 25x +10y = 150 l
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Find thefx:ingscaiilif and interpret the meaning. Find the yingefcept dnd interpret the meaning.
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Algebra 1 Guided Notes Topic 2

EXAMPLE 2
What is the graph of 3x -2y =9 ?
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Try it.. What is the graph of 4x + 5y =10 ?
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Uy +5(b)=10 H0)+ By =10
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EXAMPLE 3
A) What does the graph of 4x + By = C look like when A=0?
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B) What does the gfaph of 4x + By = C look like when ?

A‘X'L 9 =Q _ZX ‘._LL
- -2

W

A I
! E N 4 |

st

AN

—

=y o L3
5
:
i . B .
) - . u"
; .




